OLESL
FOL AL
Ore" L
ME"ET
940" ok
20k "0E
aIF 0L
ALE" 6
0o =0
EZTF"DE
B0 0L
OSE* L
FTF"0E
fot4 il
GIv DE
009" L
0L 0E
ZTF 0E
a0 " OF
ETF"0E
FEO"DE
Otk 0

dnoagn

GEDCL .
H0F 0B
OT0"E o
EIF OF "rrreteresmsasas

“rre{UOlIng UENg) Puyigawag usigms g9F

semascesseayogy poof ‘TEIINGD FE
e s TAUNg IUATPRIFEU] RTINS EF
sreesessserescheauRIg pUTE JBART EF
sressssenr e arnynradnar ffoIiuon  TE

rreecfomng pavog juamnalsu] Craung  of

FOBTOE tttrresssssssacs
FOFOE T

IR OF *-r==trr===sccccqpHry pug

EEEEEEEE S

s rerrrrrrr e olEET AUNTD
sessssssadsseg AT ACATODOY YSY
"ol Jojedniiry Cpodiun
STECCCCIDATOOOH UEY JUATH ‘Oouy
fufIl pAuog JUannI1SU] CHUTPLOOE
|-..|1.-...-1-..-..H_U._UJH lﬁom Fl_-ﬂ.—u.'.ﬁu n-.-.—d.un.—-H
e mananjanduol aaorg oo

freserreceqyaT pug fETLL PAROE JUaNDIlsSul ‘JUTpIRON  GE EOLTDE  C srerressreercrcrs g 5030000 FTOTWOH pun suST
rrESrrEEsrEErer L iOATIRIAAQ WOTBETESUEIL froaiuol  gf zI¥"0DE ° *laued Awnng § Joog juawiavduon asoTn Huyprnog
# v B BmEr R R E R FI21IMEE JOITTTIVSA p.—.ﬂ...nu.._.uﬁﬁ Le IR0 " .r._...r._._.....................BL._..“DN FUBUNI P EU] ._Hn_dan:nM_ﬂ
o rrrdrerET e E A srryra ‘Iaafesey Yy ‘qouy o BOPF OB """ rotttretees fersdresaransaiguuy pAvof JUSENALSUL SL1TL
R R R rerbsssegTaT dgaaTacay YsY  GE otF-agg - rretsrssssesss ettt BaAn) TOJIUOD OTPUE CToURg
.........1....1..................................-._._H_...”“_.._..._M“_ 'UDITMD PE FOCTOE = teddd gyl = m_._.uﬁﬂ...ﬂ—._._u“ﬂ YATUAED BISTUESPUTR ..ﬂ._".nﬂ_
--l-.......l..-.l.-.l......-.---.-......HGL.H-..-.GU _H.nv:_lvﬂn nﬂ m_ﬁ_ﬂrﬁ_m Il 444 -..--.HU.EEH = _._n'.nr-n.I.nE ﬂ_.FrI_H_._m_l.__.._.mlj n.Hﬂm
ddrmdadddritddrtrr et .....-..-..wu..-u.oi._.-h-—.- ..HDL.H-._GU ﬂm ﬂ..ﬂﬂrﬂm - L) .nﬂd.w_u_a.ﬂuw: Jh rﬂ_u_n.mn-f__ n.ﬁn.u._.n_u_u_l__.u._.k‘ -.HQ.HH_._LH_U
sreielIR a@iusd ‘wral pavog julungisuy ‘Surpinof  TE OET*6T  ° LA reeeseeescssprnynaadeal Taley ‘afnen

e rarensssrsquSrrpuag ‘YDITAE O 0Z1'6T ° raman rrranEEE s anasargd 110 ‘afnen

PrssarssssasssssssascsagRy TDUOTITRUCD ATV

OFT G " rrrreeereeer
LBl *rrrrrreereceees
GELTBT  *rrrrrrrreeeress

Tenuwg duog 42030000 DTS BE
srrescrIol0agay CTPEd ‘qQouy  §E
fULltes  AZ

rERmsEsRbssrrEr e IR)DLOpODdS
FemssarersanverERsErs e Ty Y
smsmrasssststsisiesea Ny falnen

seesoquipy I9juag fwril pivog jusuniisul fHuipiooy oz DOT BT **oeeresessssssosiasnnygaignys (00T JUSUTATSU] ‘00 1d WFaL
srdfetiniticetaati earasciais s aTolqN0] IOIRTTIUGA CF  QOTIRT Tt tiriscesisss sesrersterscpanug juownalsu f1e3saln
FrresEresiaasiees s gTpEY PATOE JUSEMIISUL ‘OTTTID  FI coge TerrstssssessassasassesesssanyuaTpu] WAy JUSTLpUOH fposap
owey 3aug Loy dnean ampg qaug
MATA JITHWASEY = TENVd LNAWAHLENI—I-6T 3¥A9I14
il Bl Bl WIEZE WY § Z0RE B K T £ KEXNL £ 6 or Lk 1] L B
i1 1
— A
—— Ll == @ Lo [ 20 5% bane mocamgoree iz o of| [ s e Ll ot
i rERED ——
i i
&l L] il i | EIlm & ﬂu L ] g ] |: I

Lalr i Bol R -0 ol R -]

£ay

-172-



INSTRUMENTS 19

Nt GROUP PART NAME and DESCRIPTION N LOTY. MODELS
19.100 - INSTRUMENT PANEL CLUSTER
19-1-2 Cluster (Miles) (W/DS) up to Body No.
F4T7-27620, P47C-12174. .. couvevrvrnanasas 201383 1 F47, F47C
Bolt, 1/4" - 20 x 1/2" Rd. Hd. e poooo 320 3 F47, F4T7C
Screw, No.12-14 x 5/8" Bind., Hd., S1. ... 497 1 F47, F47C
Flatwasher; 1/4" Bm. ...vvuecuenns SRt 243 1 F47, P47C
Lockwasher, 1/4" Ext. Tooth......ooecu.. 370 3 F47, F47C
19-1-2 Cluster (Miles) (W/DS) after Body No.
F47-27620, L B B B B o 202248 1 P47, F47C, F485, F486
Cluster (Kilo.) (W/D8) after Body No. F47-
b L B B e e 202846 1 F47, F47C, F485, F486
Lockwasher, No.l2 Int. Ext., Tooth..... - S58B 4 P47, F47C, F485, F486
Nut, No.12-24 HBx. ......... frerarepiien . 502 4 F47, F47C, F485, F486
Cluster (Miles) (Green) (WO/DS B;E ; . 201812 1 K100
Cluster (Miles) (Green) (W/DS) Klgﬂ-u
G d el s S i s L 31294 . 202?63 1 K100
Bolt, 1/4" - 20 % 1f2" Rd. Hd. 81. ..... 320 3 K100
dcrew, No. 12 - 14 x 5/8" Bind. Hd. S1.. 497 1 K100
Flatwasher, 1/4" BM, ...uvceveeanenssnss 243 1 EKio0
Lockwasher, 1/4" EXt., Tooth.eeevsersons. 370 3 K100
Cluster (Miles) (Green) from Body
(WO/DSY..........c00.s No. KIOD-31294 ,. 202249 1 K100
Cluster (Miles) (Green) to
(W/D8) (Export)....... K100-36446 ,, 202957 1 KL0O
Cluster (Miles) (Sandtone
Beige (WO/DS)....0euucnea. 7 it .. 202706 1 K100, K481
Cluster (Miles) (Sandtomne Body %o
Beige)} (W/DS)} (K100-K481 100 ;
Export only)..csseasvncanras 36446 .« 202769 1 K100, K101, K481, K482
Cluster (Kilo.) (Sandtone
Beipe) (W/DS)...cveeennnns A .. 202965 1 K100, K101, K481, K482
Lockwasher, No.l2-Int. Ext. Tooth....... 583 4 K100, K101, K481, K4s2
L[k elteat (it B e B e e B P P 502 4 K100, K101, K481, K482
19-1-3 Plate, Cluster Trim........ e «es 202095 1 F47, F47C, F485, F4B6
Screw, No.8-32 x 1/4" Rd, Hd. 851, ...... 310 1 F47, F4ATC, F485, F486
Lockwasher, No.8 Ext. Tooth.e.o.een. it T 447 1 F47, F4T7C, F485, F486
18.110 - INSTRUMENT PANEL CLUSTER LENS
LS. uaurerineianniiiiiienaiiunaianaaas, 202086 1 P47, F47C, F485, F486
Lens (Green) (Miles) up to
Body No. K100-36446........ «o« 201814 1 K100
Lens (Green) (Kilo.) up to Dial
Body No. EK100-36446..,..... Face va s 2029860 1 K100
Lens (Sandtone Beige) (Miles) Tntegral
after Body No., EK100-36446.. sea 202790 1 K100, K101, K481, K482
Lens (Sandtone Beipe) (Kile.)
after Body No, K100-364486. . +os 2029685 1 K100, K101, K481, K482
GABKEL . iussssscisnanrsannsnnnannnnnsnsss 202007 1 F47, F47C, F485, F486
GRBKEt . sasas v rvasnrssnianinassisnnaesssas 201815 1 K100, K101, E481, K482
19.120 - OIL PRESSURE GAUGE
19-1=7 GRUZE . v as e i e e sranassanasasss 202403 1 F47, F47C, F485, F486
Screw, No.B8-32 x 1/4" Rd. Hd. 51. ...... 310 2 F47, F47C, F485, F48s
BREEa s, & e e srsranassanays S01379 1 F47, F47C, F4B5, F4386

-173-




19 INSTRUMENTS

FIGURE PART

NUMBER GROUP PART MAME and DESCRIPTION MUMBER aTy. MODELS
19.120 - OIL PRESSURE GAUGE (CONT’D.)
Gaupe (GIeen) . vciviscinsseasasararasssssns 201539 1 Kloo
Gaupe (Sandtone Belpge)............... ere.a 202787 1 K100, K101, K481, K482
Serew, No.8-32 x 1/4" BRd. Hd. Cr. Rec. . 357 2 K100, K101, K481,
Nut (Terminal) No. 10 - 32 HX. ..ievnevans 202 2 K100, K101, K481,
Lockwasher, No, 10 Int. Tooth........... 259 2 K100, K101, K481, Kif

.122 - OIL PRESSURE AND FUEL

GAUGE CLUSTER
-g.l_lluster {inel. Gauges, Lens and Bezel)

R H D e 203487 1 F4B85

Cluster (inel. Gauges, Lens and Bezel)
LR D) e T e R e e e cesaes 203488 1 K481

Lens and Bezel, (R.H.D.).veveivnannans veaes 203483 1 F485, K481
Lockwasher, No, 10 Ext. Tooth...ceesvses 283 2 F485, K481
Hut, Ho., 10 - 24 BX, seeeresessessvsana . a78 2  F485, K481

Gauge, 01l Pressure (R.H.D.).....i0vuierann 203489 1 F485

Gauge, 0il Pressure (R.H.D.)....owswvasa.. 203480 1 K4B1

Gauge, Fuel, (R.H.D.J}.uiciiauusannasaasass 203481 1 F485

Gauge, Fuel, (R.H.D.)...cecoiosannsnssnss. 203492 1 K481

Nut (Termimal) No. 10 = 32 HX. vvevunnranns 202 2 F485, K481
Lockwasher, No. 10 Int. Tooth...svceusas 239 2 F485, K481

19.125 - FUEL GAUGE
19-1-4 LB BV S v s ab sty e e e s P AT s o bk a wa F R 200471 1 F47, F47C, F485, F486

Serew, No.8-32 x 1/4" Rd. Hd. 51, ...... 310 2 P47, FATC, F4B5, F486

o o e e T S R T T e T T o P B T B Er e R B R L T s B 1 F47, F47C, F485, F486

Gauge (Green)...vivesrevavaasssanrassarans 201545 1 K100 _

Gauge (Sandtone Beipgel)...cscevsnvsans sresa 202786 1 K100, K101, K481, K482
Screw, No. 8-32 x 1/4" Rd. Hd. Cr. Rec. 357 2 K100, K101, K481, K482

Nut (Terminal) No.l0-32 HX. sievesnnvsvnsa 202 2 All
Lockwasher, No.10 Int. Tooth.e.eerecssrsns 255 2 All

18.130 - WATER TEMFPERATURE GAUGE
19-1-8 B g T e R s e e ciesissaace.. 200453 1 F47, FATC, F4B5, F486

Screw, No.8=32 x 1/4" Rd. Hd. S1l. ...... 310 2 F47, F47C, F4B5, F486

BaBket ot v svsa i o s S T e E T vees 201379 1 F47, F47C, F485, F486

Gauge (Green)...... A R s AT e T a e e - 201543 1 Kloo

Gauge (Sandtone Beige)....cvvenrrrncs=a-s- 202788 1 K100, K101, K481, K482
Screw, No, B - 32 x 1/4" Fil. Hd. 51. .. 357 2 K100, K101, K481, Ed82

Nut (Terminal) No. 10 - 32 Hx. ....... e 202 2 KIOO0, K101, K481, E482
Lockwasher, No.l0 Int. Tooth.....c.coveua 259 2 K100, K101, K481, K432

19.132 - AMMETER AND WATER TEMPERATURE
GAUGE CLUSTER

Cluster (incl. Gauges, Lens and Bezel)

o o L B T e T T T T L e e S« 11 (- [ | | 1 F485
Cluster (incl. Gauges, Lens and Bezel)

(Rl D) el - e e R A Lt tieiaaas 203495 K481
Lens and Bezel..... e e i e L L e 203493 1l F485, K481

o]

-174-



INSTRUMENTS 19

FIGURE PART
NUMBER GROUP PART MAME snd DESCRIPTION NUMBER ary. MODELS

19.132 - AMMETER AND WATER TEMPERATURE
GAUGE CLUSTER (CONT’'D.)

182 Lockwasher, HNo,1l0 Ext. Tooth...ocvisaees 294 2 F485, K481
{82 Mt eRotl0=adamy ¥ oo S e i 378 1 F485
182 dmmeter (R.H.D.) ... c.isiivssivanssnasnnnss 203485 1 F485
182 Ammeter (R.H.D.)......... e e L S 203487 1 K481
Gauge, Temperature . ssssessssssssssssasaans 203498 1 F485
Gauge, Temperature....coevascesss e L s 203499 1 K481
Hut, No,10-32 Hx. (Termninal) ...ivivnncnnnn 202 2 F485, K481
a_j} Lockwasher, No,1l0 Int. Tooth, .vseswnnnss 259 2 PF485, K481
19,135 - AMMETER
19-1-5 AINMBTOT §h s aveina et e L I 201382 1 F47, FATC, F4B5, F486
Screw, No.B-32 x 174" Rd, Hd., 51, ..... 310 2 F47, F47C, F4B5, F486
BT = o e e T T I L H R T T L e 201379 1 P47, F47C, F4B5, F4B86
Ammeter (Green)........... e 201585 1 K100
Ammeter (SBandtone Belpe)....vvvrisvsnnsana 202780 1 K100, K101, K481, K4a2
Serew, No.B-32 x 1/4" Fil. Hd. 51. .... 357 2 K100, K101, K481, K482
Nut (Terminal)lNo.I10=32 HX. ...ucsevoness 202 2 aAll
Lockwasher, No.10=Int. Tooth.,.....ue.vu. 250 2 All
15.140 - SFEEDOMETER
Specdometer Head (Miles).oeecweevcvnnncnns 201378 1 F47, F47C, F485, F488
Speedometer Head (Kilou).e.ewcwevsiavevaasa. 202845 1 F47, F47C, F485, F486
_ Screw, No. & - 32 x 1/4" Rd. Hd. S1. ... 310 4 F47, F47C, F485, F488
6 18-1-6 Gasket........ A e e S e e . 2O T 1 F47, F47C, F485, F486
6 Speedometer Head (Miles) (R.H.D.)..ove.a.. 203500 1 F485
5 Speedometer Head (Hile.) (R.H.D.)......... 203501 1 TF485
Speedometer Head (Miles) (WO/DS) (R.H.D.)}. 203502 1 K481
B2 Speedometer Head (Kile,) (WO/DS) (R.H.D.). 203503 1 K481
B2 Btud, Bpperii. i ivissssansrseensnnnaness 203516 1 TF4BS, K481
Stud, Lower..uieeerana e ek e SDIDET 1 F485, K481
Lockwasher, No., 10 Med. .....cenvevennae 254 2 TF485, K4H1
Muta oo P R e et e e R S e SR R 203504 2 F4B5, Ki481
Serew, No, 10-24 x 7/16" Fil. Hd. Cr.
e A e e R A 643 2 TF485, K481
3 Lockwasher, No. 10 Med. .......... P 254 2 F4B5, K481
3 Speedometer Head (Miles) (Green) (WO/DS).. 201589 1 K100
3 Speedometer Head (Miles) (Green) (W/DS)...
(Export)....... e 202783 1 K100
32 Speedometer Head (Miles) (Sandtone Beige)
32 AN DB Yicursvn e v wsmiain s nr b s S SAD2TEE. 1= K100
32 Speedometer Head (Miles) (Sandtone Beige) :
32 ] (W/D3) (K100 and K481 Export only)...... 202785 1 K100, E101, K481, K482

Speedoneter Head (Kilo,) (Green) (W/DS)... 202969 1 K100
Speedometer Head (Kilo.) (Sandtone Beige)
Screw, No. 8-32 x 1/4™ Fil. Hd. 81, .... 357 & KL00, K101, K481, K482

19.145 - INSTRUMENT TUBES CLAMP

=

CIa'mp"l'lflf'l'l*‘ii‘ --------- L N R I I R T O R Y 2“2“99
Serew, Ne. 10-32 x 5/8" Rd, Hd, S1. .... 419

F4T, F47C, F4B5, F486
F47, F47C, F485, F486

4]

Lockwasher, No, 10 Ext. Tooth...eeeeeen. 034g 2 P47, F47C, F485, F4B6




19 INSTRUMENTS

FIGLIRE PART
NUMBER GROUP PART MAME mnd DESCRIPTION NUMBER ary. MODELS

19.150 - INSTRUMENT TUBES DASH GROMMET

Grommet..voeeene. T e e e e e e ] 1 All
CGrommet,....veeea. ernraranss AR Hi ssesnsas, 203732 1 F485, K481

Retainer. . ivienueans b e e e A e e e OS] ) 2 A1)

Screw, No, 10-12 x 378" Rd. Hd. S1. .... 311 2 A1l

18.160 - INSTRUMENT BOARD NAME
PLATE (ILLUMINATED)
Pl;;:}, Frazer, up to Body No. F47-27520,
= L e e e e ... 200517 1 F47, F47C

Plate, Frazer, after Body No. FA4T7-27620,

o I el b g R e R S e e aeewes  2OD5T 1 F47, P47C, F4B5, F485

Plate, Kaiser, up to Body No. K100-31294,.,. 201816 1 K100
Plate, Kaiser, from Body No. K100-31294 to

L B L e e vees 202512 1 K100

Plate, Kaiser (Sandtone Beige) after Body _
Ho. KIOD=-36446. ¢« ouonunsasssssssns sranas 202708 1l K100, K101, K481, E4
Loekwasher, No. 12 Int. Ext. Tooth...... 588 2 All
Hut, Moo 12=04d Hx. . oiieensasiceninss A 502 2 All

Plate, Name Plate, Trim....eceececescnsess. 202005 1 F47, FATC, F4B5, P486
8crew, No. B=-32 x 1/4" Rd. Hd. 81. ..... 310 1 P47, F47C, F485, F486
Lockwasher, No. B Ext. Tooth............ 447 1 F47, F47C, F485, F486

-176







	kfpm240172.jpg
	kfpm240173.jpg
	kfpm240174.jpg
	kfpm240175.jpg
	kfpm240176.jpg
	kfpm240177.jpg

